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Increase 4200 by 38%

[ marks]
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The value of a second-hand car is £8000
Each year it loses 20% of its value at the start of that year.

Work out ts value in 5 years time.

3 marks]
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16 Bella invests £5000 in an account for two years.
The account pays 3% compound interest per annum.

Bella has to pay 20% tax on the interest earned each year.
This tax is taken from the account at the end of each year.

How much money will Bella have in her account at the end of the fwo years?
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11 Alfred studies animal populations on an island.
The size of an animal population at the start of 2014 was 2500.
The size of this animal population increases exponentially.
Alfred assumes that the rate of increase is 20% per year.

(a) Using his assumption, work out the size of this animal population at the start of 2000.

(b) Alfred’s assumption is too high. Explain how your answer to part (a) is affected.




